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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-"A’

Question number 1 to 10 are of 1 mark each.

The decimal expansion of the rational number 25 will terminate after.

(A) one decimal place two decimal places

(C) three decimal places more than three decimal places

n2—1 is divisible by 8, if n is
(A) an integer a natural number

(C) an odd integer (D) an even integer

If one of the zeroes of the quadratic polynomial (k—1)x>+kx+1 is —3, then the value
of k is

The lines representing the linear equations 2x — y= 3 and 4x —y = 5
(A) intersect at a point (B) are parallel

(C) are coincident (D) intersect at exactly two points

In fig.1, if D is mid-point of BC, the value of tanx”

tan y°
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Construction of a cumulative frequency table is useful in determining the

(A) mean (B) median
(C) mode (D) all the above three measures

Ifx =3sec?® — 1,y = tan? 6 —2 then x — 3y is equal to
(A) 3 (B) 4 © 8

If cos® + cos?2 @ = 1, the value of (sin2® + sin?6) is
(A) 0 (B) 1 © -1

If AABC~ARQP, LA = 80°, £B =60°, the value of £P is
(A)  60° (B) 50° (C) 40° (D) 30°

In the given figure (2), Z/ACB =90°, «BDC =90°, CD=4cm, BD=3cm, AC=12cm.
cosA — sin A is equal to

A

SECTION - ‘B’
Question number 11 to 18 carry 2 marks each.
Use Euclid’s division algorithm to find H.C.F. of 870 and 225.

Solve 37x+43y=123, 43x+37y =117.
OR
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«, B are the roots of the quadratic polynomial p (x)=x%— (k+6)x+2 (2k—1).

1
Find the value of k, ifa+ S« B.

7 . s
If cotd = —, find the value of (1+ sin6)(1— sinb) .
8 (14 cosB) (1— cosb)

Find the median class and the modal class for the following distribuion.

C.I | 135-140 | 140-145 | 145-150 | 150-155 | 155-160 | 160-165
f 4 7 18 11 6 5

Write the following distribution as more than type cumulative frequency distribution:

ClI 50-55 | 55-60 | 60-65 | 65-70 | 70-75 | 75-80
frequency 2 6 8 14 15 5

Two poles of height 10 m and 15 m stand vertically on a plane ground. If the distance

between their feet is 5./3 m, find the distance between their tops.

In fig. 3, ABLBC, DELAC and GFL1BC. Prove that AADE ~AGCF
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SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each.

Show that 5+ /2 is an irrational number.

OR

Prove that /3 + /5 is irrational.

Show that 5" can’t end with the digit 2 for any natural number n.

If o, B are the two zeroes of the polynomial 21 y?—y—2, find a quadratic polynomial
whose zeroes are 2 « and 2 B+

If A,B,C are interior angles of AABC, show that

sec? [ﬂj—l = cot? é
2 2

OR

cos(90° —0) 4 1+ sin (90°—0)
1 + sin(90°—0) cos (90°—9)

Prove that : = 2cosecH

In figure 4, ABC is a triangle right angled at B, AB=5 cm, ~ACB =30°. Find the length
of BC and AC.

A

30°

Fig. 4

The mean of the following frequency distribution is 25.2 . Find the missing frequency x.

ClI 0-10 10-20 | 20-30 | 30-40 | 40-50
Frequency 8 x 10 11 9
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Find the mode of the following frequency distribution :

ClI 5-15 15-25 | 25-35 | 35-45 | 45-55
Frequency 2 3 5 7 4

Nine times a two-digit number is the same as twice the number obtained by
interchanging the digits of the number . If one digit of the number exceeds the other
number by 7, find the number.

OR

The ratio of incomes of two persons is 9:7 and the ratio of their expenditures is 4:3. If
each of them manages to save Rs 2000 per month, find their monthly incomes.

PQ 7
In figure 5, XY || QR,E =3 and PR=6.3 cm. Find YR.

28. In figure 6, ABD is a triangle in which ZDAB =90° and AC | BD. Prove that
AC? =BCxDC.

1040106 - B1




SECTION - ‘D’

Question number 29 to 34 carry 4 marks each.

Solve the following system of equations graphically and find the vertices of the triangle
formed by these lines and the x-axis.

4x—3y+4=0, 4x+3y—20=0

Draw ‘less than ogive’ for the following frequency distribution and hence obtain the
median.

Marks obtained| 10-20 20-30 30-40 40-50 50-60 60-70 70-80
No. of students 3 4 3 3 4 7 9

Prove that the ratio of the areas of two similar triangles is equal to the square of the
ratio of their corresponding sides.

OR

Prove that in a triangle, if square of one side is equal to the sum of the squares of the
other two sides, then the angle opposite the first side is a right angle.

Find all the zeroes of the polynomial x*—5x*+2x*+10x — 8, if two of its zeroes are

NP3

Prove that cot® — 1+ cosecH _ 1
cot® +1—cosech cosech —coth

OR
If tan® +sinf=m and tan® —sin® =n, show that

(mz— n? )2 = 16mn

Prove that ﬂ= secA + tanA
1— sin
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Herefl STHERAT SR ST SIHeE el ©
(A) weA & fog (B) wifeAeRt & ferw

(C) vgas & fag (D) = |+ & fag

I x = 3sec?f — 1,y = tan2 § —2 Tl x — 3y SIT&R BN

(A) 3 (B) 4 © 8

G cosh + cos?® = 17 (sin20 + sin%6) 1AM B :

(A) 0 (B) 1 @ -1

AABC=ARQP, ZA = 80°, /B =60°dql £P &1 HH B :

(A) 60° (B) 50° (C) 40°

st&fd (2) §, ZACB =90°, £BDC =90°, CD=4 §.91.,, BD=3 9.7, AC=12 9.71. @I
cosA — sinA SER B
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3T - 3 § ABLBC, DE.L AC a9 GF L BC 95 =it f AADE ~ AGCF

Q|ue-q
Y99 GEAT 19 W 28 T Ueeh U9 3 37! &7

19. <wisd fo 5+ V2 T eufds e
qr

fag #ifsT /3 + /5 T 1ufdg e B
TuIEd o 50 1 fawar o7 2 § T 76l & Hehell STl n T TIhdd HEAT T

A o, B IZIR 21 Y2 —y—2 o Y o I Tk (5910 9gUQ 1d HIT 96k &R 2 o T
2B TN

7fg A,B,C fodt Iy & ar=: &Iw 81

B+C

ESUERRED sec? (Tj_l = cotzg

1)

cos(90°—0) 4 1+ sin(90°—0)

= 2cosecH

"1 + sin(90°—0) cos (90° —0)
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3Hfa (4) §, AABCH B UHIU § G2 AB=5 cm, LACB =30° @l BC d21 AC & oIS
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28. 3T (6) § ABD T A § fS@H ZDAB =90° & 92 AC | BD fag #ifslw AC2 =BCx DC

D
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m ﬁﬁn{ cotd — 1+ cosecH _ 1

cotd +1—cosecH cosecH —coth

1

2
IS tan® + sind=m AT tand — sind =n?ﬁ§'¥ﬁ3’& : (mz— nz) = 16mn

g Fifvg %=secA + tanA

1-— si
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